ATFEBE 5551 IV HIHER (BCP-P)

,/_-
l‘y
7\\,‘\i
{‘ ;]
RV
(F7a1IVi58%8 - £F/NyFx2) BG:mm
FEOR 1 % S St L N-E TEEARIVE - F b
7575 51,800 1245 75 209 4-M16x85
100X75 60,750 142.0 80 264 6-M16x85
125X75 68,000 1545 80 264 6-M1685
150X75 74,360 173.0 85 268 6-M16x85
20075 107,250 2035 %0 268 419 6-M20%90
100x100 72,900 1320 70 264 6-M16x85
125x100 73310 1445 70 264 6-M1685
150x100 78,610 163.0 75 268 6-M16x85
200%100 109,340 1985 85 268 6-M20X90
150x150 104,060 198.0 110 348 619 6-M20%90
200%150 113,140 2235 110 398 619 8-M20X90
200%200 142,560 2085 9% 398 819 8-M20X90
BCD-P-BBD-P
(FU3IVEEEL - PUEER/ Ny F2) BAEmm
FORE m % s St L N-E TR Foh
250%75 128,890 2430 100
30075 136,960 2690 100
35075 167,250 2960 100
40075 201,280 3275 105
250x100 132,770 2330 90 340 419 9-M20x100
300%100 142,600 2500 9%
350100 175,650 2860 %0
400%100 207,200 3175 9%
250%150 138410 2580 115 619
300%150 149,010 2840 115 6-19
350150 180,790 3110 115 619
400x150 215,110 3375 115 50 619 PAOXI00
250%200 146,380 2430 100 819
300%200 156,130 2690 100 819
350%200 185,900 2960 100 819
400%200 226,440 3225 100 819

KEFSE (NE) B BEBHEVEDETE, 241
NI EE-HIREICEL T, AEEH ETERVEHEEE, B a



ATFEBE IB(EEZIVE - HEH (BV-P-BS-P)

(BB IVEESKEL - PIEERI Ny F2) B fr:mm
REOC2 1 1% S S L N-E TEEARILN-F b
75%75 48,520 1225 765 6-M16x85
100x75 53,220 1380 80.0
125x75 65,900 1515 800 300
150x75 65,340 169.0 850
200%75 98,330 1995 900 419
100%100 64,890 128.0 700 6-M20%90
125x100 69,870 1415 700
150x100 74,090 159.0 750 340
200%100 104,810 1945 850
150x150 101,940 1940 1100 450 619 8-M20%90
200%150 117,660 2195 1100 450 619 8-M20X90
200%200 138,240 2045 950 500 819 8-M20x100
ZTFEBE AEEH (BAP-P)
(BB1IVEE4EL- 2By x) BA:mm
REOC2 1 & S S L N-E TEEARILN-F b
75%75 47160 1265 75 209 4-M16%85
100x75 55,510 146.0 80 264 6-M16%85
12575 65,800 161.0 80 264 6-M16%85
15075 74,540 1810 85 268 6-M16%85
200%75 100,880 2165 90 268 419 6-M20X90
100x100 66,000 136.0 70 264 6-M16%85
125x100 74,150 151.0 70 264 6-M16%85
150x100 76,680 1710 75 268 6-M16%85
200%100 105,780 2115 85 268 6-M20%90
150x150 98,410 206.0 110 348 619 6-M20X90
200x150 109,670 2365 110 398 619 8-M20X90
200%200 131,020 2015 95 308 819 8-M20x90
ATFEME KRUIFLVERHMP)
CoEEOIE: T3 PACTE ) BAImm

U i = s St L L, NE | O TERW 790 © TR Fob
75X75 107,240 135 90.0 386 440 8-M16x85 8-M16X65
100X75 119,890 140 775 424 470 8-M16X85 12-M16X65
150X75 144,630 175 85.0 488 528 4-19 10-M16Xx85 16-M16X65
100X100 130,940 150 87.5 424 470 8-M16x85 12-M16X65
150x100 155,950 175 85.0 488 528 10-M16X85 16-M16X65
150x150 171,040 205 115.0 488 528 6-19 10-M16Xx85 16-M16X65

B TEI R A BHCHMSCEVET, o -

NI EE-HIREICEL T, AEEH ETERVEHEEE,



(FUB1IVEEHEL-2F/Nyx) B mm
FFUE i & S S1 L N-E ® TEEARIVR-Fyk | @ THEARIVL - Fob
25075 143,020 2330 9% 400 8M20x100 | 16-M20X100
300x75 153510 259.0 9% 8M20x100 | 16-M20X100
35075 189,260 2850 9% 8M20x100 | 20-M20X100
40075 223,170 3155 100 450 8M20x110 | 24-M20x110
45075 249,070 3460 105 8M20x110 | 24-M20x110
50075 341,500 3715 105 8M20x110 | 28-M20X110
60075 398,170 4280 110 19 8M24x120 | 28-M20X120

250%100 145,640 2330 9% 200 &M20x100 | 16-M20X100
300%100 157.160 2590 9% &M20X100 | 16-M20X100
350x100 195,020 2850 9% 8M20x100 | 20-M20X100
400x100 231,630 3155 100 450 8M20x110 | 24-M20x110
450x100 260,210 3460 105 8M20x110 | 24-M20x110
500x100 346,000 3715 105 8M20X110 | 28-M20X110
600x100 402,930 4280 110 8M24x120 | 28-M20X120
250x150 151.120 2480 110 400 8M20x100 | 16-M20X100
300x150 164,550 2740 110 8M20x100 | 16-M20X100
350150 201,200 3000 110 8M20X100 | 20-M20X100
400X150 244,990 3305 115 450 6-19 8M20x110 | 24-M20x110
450%150 270,040 3610 120 8M20X110 | 24-M20X110
500%150 356,040 3865 120 8M20X110 | 28-M20X110
600150 413,420 4380 120 8M24x120 | 28-M20X120
250%200 307,310 2680 600 12-M20x100 | _16:M20%100
300%200 168,570 2940 450 8M20x100 | 16:M20x100
350%200 203,940 3200 550 10-M20X100 | 20-M20%100
400x200 249,900 3455 130 550 819 10-M20X110 | 24-M20%110
450%200 282,700 3710 12-M20x110 | 24-M20x110
500%200 363,060 3970 12-M20X110 | 28-M20X110
600X200 419,120 4530 135 600 10-M24x120 | 28-M20%120
250%250 391,080 2080 160 12-M20X100 | 16-M20%100
300x250 416,800 3240 160 12-M20X100 | 16:M20X100
350%250 305,840 3400 550 10-M20X100 | 20-M20%100
400%250 389,150 3655 550 823 10-M20X110 | 24-M20X110
450%250 401130 3910 150 12-M20X110 | 24-M20X110
500x250 525,780 470 600 12-M20X110 | 28-M20X110
600x250 620,440 4680 10-M24x120 | 28-M20X120
300x300 436,150 3240 160 12.M20x100 | 16:M20X100
350x300 793,030 3500 160 800 16:M20X100 | 20-M20%100
400%300 405,370 3655 550 1023 10-M20x110 | 24-M20x110
450x300 423,050 3910 50 600 12-M20x110 | 24-M20x110
500%300 556,680 4170 600 12-M20X110 | 28-M20%X110
600300 656,460 4680 600 10-M24x120 | 28-M20%120
350350 825,190 3500 800 16-M20X100 | 20-M20%100
400350 892,940 3755 800 16-M20X110 | 24-M20%110
450350 1105120 2010 600 10-25 12-M20X110 | 24-M20X110
500350 581,470 2270 750 16-M20X110 | 28-M20X110
600X350 685,710 4780 160 800 16:M24%120 | 28-M20X120
400%400 932,770 3755 800 16:M20X110 | 24M20X110
450x400 1172.840 2010 1,000 1208 20M20x110 | 24-M20x110
500x400 1,187,290 4270 750 16-M20X110 | 28-M20X110
600X400 869,940 4820 800 16:M24%120 | 28-M20%120
450x450 1,220,540 2010 160 1,000 20M20X110 | 24-M20x110
500x450 1,307,530 4370 170 1,000 20M20x110 | 28-M20x110
B00X450 1,020,640 2920 170 800 12:27 16:M24%120 | 28-M20%120
500X500 1,326,460 4370 170 1,000 20M20x110 | 28-M20x110
600X500 1,889,980 2970 175 1.200 20M24x120 | 28-M20x120
600600 1,926,820 5020 180 1.200 1627 20M24x120 | 28-M20x120

XITHEE-HIREICEHAL TR AEEAETERVEhEZEN,

- 243 -



